Sr: 18072018-470

Name:
B 11-PLUS

MATHS WORKSHEET |; SATS 2

July 18, 2018 GEMERATOR 4 GCSES X )

1) Find area of 2) Find the range of the following set of datax 3) Round 18.09976934 to the nearest 10
b rectangle having 0.2,8,8,3,4,-13,0.1, 16
sidesa=4796 m
a and b =4180 m
Answer: Answer: Answer:

4)  (-7899) - 1186

5) Solvelld?-7d-14=0
Round your solutionsto 1 decimal
place.

6) Simplify 19:38

Answer:

a and b =2798 m

Answer:

Answer: Answer: Answer:
7) Find the range of the following set of data: 8) 9) 5-4 /5
11,17,0,5,-0.9, 1 11
- 5-16
Name the type of angle.
Answer: Answer: Answer:
10) Convert the following improper 11) b 12) 05:07 am To 03:32 pm
fraction 213/16 + 278/g to amixed
number
a o c
Measure angle boc
Answer: Answer: Answer:
13) 46568.4 + 771 14) Find perimeter of 15) 805.1 - 5147
b rectangle having
sidesa=5664 m

Answer:
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16) 8+15-19 + 202 17) 8+15-19 + 202 18) 3119x 2114
Answer: Answer: Answer:
19) 325+ 360 20) Round 14.854802256181 to the 21) Decrease 80 by 34
nearest whole number.
Answer: Answer: Answer:
22) 29+ 3L 23) Find the value of 'q’ by completing 24) 4115 x 20%4
the square of the following equation:
2+10q+16
Answer: Answer: Answer:
25)  (-2025) + 25 26) 27) 16/, - 16,19
38 £ Find VVolume of Cone
)
35
Answer: Answer: Answer:
28) P+ 59 29) A number is chosen at random from 30) Find area of
1 to 75. Find the probability of b rectangle having
selecting factors of 19 and 18. sidesa=9000in
a and b =8387in
Answer: Answer: Answer:
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17,0.7, 19, -20, 13, 0.1, -12, 5

Answer:

191, 191, 191, 191, 191, 67, 67, 67,
67, 67, 67,67, 141, 141, 141, 104,
104, 104, 104, 104, 104

Answer:

31)  81x 1000 32) Decrease 212 by Vg3 33) 1214+ 1yg
Answer: Answer: Answer:
34) 1215 + Yyg 35) 38 3/15-37 10744 36) 10 10/55-24 6/
Answer: Answer: Answer:
37)  (-6159) - 3445 38)  (-6159) - 3445 39) (7x62) x (1x 1
Answer: Answer: Answer:
40) Find the range of the following set of data: 41) Find the mode of the following set of data: 42) Write 2 X 10-3 as anorma number.

Answer:

333/, to an improper fraction.

Answer:

43) Convert the following mixed number

44) 5+8-16+19

Answer:

45)  What would you multiply by to
decrease an amount by 19%?

Answer:
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46) Factorisex2 + 4x + 4

Answer:

47)  135+54523

Answer:

48) Find the mean of the following set of data:
0.9,47,0.2,0.3

Answer:

49) 19%/43x 1519/

Answer:

50)  What would you multiply by to
decrease an amount by 68%7?

Answer:

51) Find the mean of the following set of data:
100, 1, 46, 41, 24,0.8,0.4

Answer:

52) Round 3.071375153 to the nearest

53) Round 3.071375153 to the nearest

54) Share 54 intheratio 16:2

whole number. whole number.

Answer: Answer: Answer:

55)  Increase 333.2 by 69% 56) Find perimeter of 57)  1795.5+7450.4
square having each
s side (s) equals 9804 m
s

Answer: Answer: Answer:
58)  7763.9 +4086.3 59)  Write 6 x 10°3 asanormal number. 60) £ f7

Answer: Answer: Answer:
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61) 171, -89 62) A number is chosen at random from 63) A number is chosen at random from
1 to 75. Find the probability of 1to 75. Find the probability of
selecting prime number. selecting prime number.
Answer: Answer: Answer:
64) Find perimeter of 65)  Findthemedian of the following st of datar 66) Convert the following fractioninto a
square having each 12,14, 31,11, 28,40, 5, 8, 11, 4, mixed number: 24/;3
s side (s) equals 5598 in 21,32, 2,16,38,9, 15,910, 28
s
Answer: Answer: Answer:
67) NG 68) (-43) x 58 69)
35 Find VVolume of
Cylinder
Answer: Answer: Answer:
70) 207, - 267, 71) Solve3sZ-19s-20=0 72) Decrease 141 by 1,7
Round your solutions to 1 decimal
place.
Answer: Answer: Answer:
73) 47.2x 245 74)  (-5555) - 2154 75 1032+ 43
Answer: Answer: Answer:
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76) 77) 10+19x 10+ 10 78)  (-540) = (-12)

Find Volume of
Hexagonal Pyramid
735

Answer:

Answer:

Answer:

79)  (-3027) + (-7362)

Answer:

80)  (-3027) + (-7362)

Answer:

81) Factorise 8f2 + 26f + 20

Answer:

82) Findthevaue of 'q' by completing

the square of the following equation:

83)
40 J Find Volume of Cone

84) Convert the following fraction into a
mixed number: 78/g

2+4q9+4 et
39
Answer: Answer: Answer:
85) Find area of 86)  8567.2 + 3183 87)
b rectangle having 37 L= k Find Volume of Cone
sidesa= 9997 cm
a and b =9371cm c’
35
Answer: Answer: Answer:

88)  (-4416) + 64

Answer:

89) 03:53 am To 10:03 am

Answer:

90)  (-7313) + 5441

Answer:
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8, 34, 37, 40, 37, 21, 10, 20, 29, 16,
32,22, 17, 29, 32, 10, 35, 23, 36, 22

3814/, to an improper fraction.

91) Round 14.69818082438777 to 12 92) Find perimeter of 93) Find area of square
significant figures. triangle having each side (s)
b ¢ a=8834m,b= s equals 1639 cm
9903 m,
a € =9962m s
Answer: Answer: Answer:
94) Find the median of the following set of data: 95) Convert the following mixed number 96) 2852 + (-62)

Answer: Answer: Answer:
97) 98) Write3x 10"l asanormal number. 99) Find area of
Find the next three numbersin b rectangle having
the sequence sidesa=8817 cm
32,34,136,138,552,554,2216_, , a and b=7772cm
Answer: Answer: Answer:

100) $213.85 earning 6% compound
interest for 3 years.

Answer:

Total: /100
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1) 20047280m
8) Straight

15) -4341.9

22) P)5gg

29) 0y

36) 28%/14

43) 135,

50) 0.32

57) 9245.9

64) 22392in
71)s=7.30r-0.9
78) 45

85) 93681887cm
92) 28699m
99) 68525724cm

2)29

9) 523

16) 404

23) (@ +5)%-9
30) 75483000in
37) -9604

44) 16

51) 30.46
58) 11850.2
65) 12.5
72) 138

79) -10389

86) 11750.2
93) 2686321cm
100) $254.70

11-PLUS
SATS
GCSES

MATHS WORKSHEET %«'

A0
{'”ﬂ'—)

GEMERA i

Answers:
3)18.1 4) -9085 5)d=150r-0.9
10) 491Y/144 11) 62 12) 10 Hours 25 Mins
17) 404 18) 339,65  19) 5l
24) 8235/39 25) -81 26) 12186.76150205
31) 81000 32) 208 33) 111/,
38) -9604 39) 252 40) 39
45)0.81 i%(x *2 47 55673
52) 3 53) 3 54)3:51
59) 0.006 60) {14 61) 87/3g
66) 111/15 67) 145/7 68)
73) 1156.4 74)-7709  75)24
80) -10389 E%)Zf A0 g (q+2)2
87) 11866.057251996 88) -69 89) 06 Hours 10 Mins
94) 24 95) 584/,5  96) -46
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6)1:2
13) 60.4
20) 15
27)9

34) 11/,
41) 67

48)12.1

55) 563.108

62) /5

69) 112594.68070466
76) 39252.60142653

83) 15927.8747537

90) -1872
97) 2218,8872,8874,

7)17.9
14) 16924m
21) 74

28) 0

35) 15,
42) 0.002

49) 30856/143

56) 39216m
63) 2%/55
70) 172/
77)

84) 13

91) 14.6981808244
98) 0.3
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